Al

Itis today.
Answer:

| like weather.

Answer:

They are because it's sunny.
Answer:

He doesn't like weather.
Answer:

it's raining, we'll stay indoors.

Answer:
She always wears a hat it's cold.
Answer:

it's hot, we'll go swimming.
Answer:
We can't go to the beach it's windy.
Answer:

it's snowing, we'll build a snowman.
Answer:

it's foggy, we need to be careful.

Answer:




Answers

Itis today.

Answer: sunny

| like weather.

Answer: warm

They are because it's sunny.
Answer: happy

He doesn't like weather.

Answer: cloudy

it's raining, we'll stay indoors.

Answer: If

She always wears a hat it's cold.

Answer: when

it's hot, we'll go swimming.

Answer: If

We can't go to the beach it's windy.
Answer: If

it's snowing, we'll build a snowman.

Answer: If

it's foggy, we need to be careful.

Answer: If



